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. This Question Booklet contains 150 questions. Each

. This Question Booklet contains Four Parts wherein

. This Question Booklet consists of the following Parts :

. Do not write anything on the cover page and inside the

- Ifyou happen to find that the booklet issued to you does

. The number of questions attempted must be wﬁtten in

. Incase of any ambiguity in Hindi version, English version

IMPORTANT INSTRUCTIONS
Answer all questions. All questions carry equal marks.
The candidate should indicate his Category, Roll No.,
Registration No., Question Booklet Series at the space
provided on OMR Answer Sheet. !
For Language-II from English, Urdu or Sanskrit, choose
only one language which you have selected as an option
in your registration and mark on the OMR Answer Sheet
otherwise the Answer Sheet will not be evaluated and the
candidate will be solely responsible for it. :

question has four alternative answers. The candidate has
to darken only one circle/bubble on the answer sheet
using black/blue ballpoint pen indicating the correct
answer as shown below :

Example:® @ @ @, where (3)is the correct answer.
If more than one answer are marked, it would be treated
as wrong answer and it will not be examined. '~

first three parts are compulsory for all. Attempt all
the questions sclecting any one language from
Language-II in Part-1II. Part-IV is related to special
subject. Candidates who opted for Mathematics and
Science have to attempt questions of Part-IV (A) and
rest of the candidates have to attempt questions of
Part-IV (B). All questions are multiple-choice types.
There will be no negative marking. .

Part-I : Child Development and
Teaching Method Q. Nos. 1-30
Part-Il : Language-1 : Hindi Q. Nos. 31-60
Part-1II : Language-II : English Q. Nos. 61-90
OR Urdu Q. Nos. 61-90
OR Sanskrit Q. Nos. 61-90
Part-IV : (A) Mathematics and Science Q. Nos. 91-150

OR  (B) Social Studies/ !

Other Subjects Q. Nos. 91-150

question booklet.

not have all the pages properly printed or it has any other
deficiency, then you need to approach the invigilator to
get another booklet of same series and code.

w}:ards and figures in the specified place on the OMR
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CHILD DEVELOPMENT AND TEACHING METHOD
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UDRSE L

3.

lateau in learning curve is caused
due to

(1) maturation
(2) motivation
(3) fatigue
(4) interest

irror drawing test is used to measure I
(1) rate of learning 4
(2) transfer of learning * s
(3) creativity -
(4), interest

loud picture test is used to measure
which of the following? |
(1) Intelligence
Personality
(3) Aptitude
(4) Interest

nd the odd one.
1) “TAT .

4). Draw-a-Man test
he median of 7,

(2) 16-PF
(3) Raven’s test

10,11, 1288
e T ey
(3) '10 I o f

a’) 95 : o
@ ho has propounded th |
insight? e theory of = |

(1) Thorndike

(2) Gestalt Psychologlst
(3) Hegarty

4) Skinner : E :
ccording to McDougall, every instinct is 4

associated: with
(1) cognition
(2) emotion

(3) sensation
(4) thinking
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Paper-11/C

L8/(3§1ng the meaning to sensation on the
basis of past experience is called
(1)
o[2)"perception

(3) motivation
(4)

sensation

imagination

Flve-year—old Mohan has mental age of

eight. What is his 1Q? Iz 6

(1) 150 ol
l)2) 160 ’///

(3) 140 $&

4) 135

Which IQ range is called trainable 1Q
level of mentally retarded. children?

__(y 70-79
(2) 50-69
(3) 36-49
(4) 35 and below

@Rorschaeh inkblot test is used to

measure which of the following? " -~ -
(1) Personality ‘ ihAY

(2) Intelligence

3)

(4) Aptitude

Interest -

mm of the following is not the cause
of forgetting?
(1) Under—learnmg
Desire to remember
(3) Mental conflict
(4) Defective methods of remembermg
13/The science which dea]s w1th the
 methods of collecting, classifying,

presenting, compqnng and interpreting
numerical data is ca]led
} h

(1) statistics
(2) mathematics

(3) geometry

(4) probability

V[ P.T.O.
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concept of

iven the
& for backward

@ ho has :
educational quotient
children?

(1)
(2)
3)
(4)

\/ﬁ; Which among the following is different
from the characteristics of a good test?

(1) Reliability
_(2) Validity

(3) Objectivity

(4) Aptitude

Gordon
Schonell
Burton Hall
Cyril Burt

16. hlch of the followlng is not the theory

of intelligence?
(1)
(2)
@)
@)

Which one of the following is not a
-ductless gland?

(1) Adrenal gland

(2) Pituitary gland
3)

(4) Thyroid gland

According to Piaget, the second stage of
cognitive development is

(1) sensorimotor stage

Unifactor theory
Two-factor theory
Theory of regression

Multifactor theory

J

Salivary gland

(2) formal operations stage
(3) pre-operations stage
(4) concrete Operations stage

19, What is the fa
v development?

(1)
(2)
3)

ctor inﬂuenging physical

Heredity
Environment

Sports and €Xercise

)

All of the above

|
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Mhich of the following is correct formula
to calculate 1Q?

M'lixlOO

CA

cA
MA

CA 100
MA

)
(@)

3)

MA

4) —— -
* CAx100

'Czpllho among the following described
‘reflective thinking'?

(1) Dewey
(2)
(3)

(4)

which is not included in the levels of
inductive reasoning?

Ross
Woodworth

Drever

(1) Observation
(2) Experiment
(3) Generalization
s P
v @ Imagination BN
. Failure in retention and recall of learnt
content is ' '
/@ forgetting -
(2) memory

C@ retention
4) thinking

f. The main characteristic of basic instinct
is that which is found only in

(1)
@)
—@l

(4)

human beings
cats and fats_

all organisms and it is inborn and
natural

artists
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The right to free and compulsory
ducation for children between age
group of 6-14 has been included in the
Indian Constitution as

@ Article 26

(2) Article 15

Article 45
Cly)

Article 21A
26. Kretschmer has classified the persons in
/ which one of the following main types?

(1) Asthenic

(2) Athletic

(3) Pyknic

(4) All of the above "+, b §s

2

-

of the following?
(1) Intelligence
—2) Aptitude
(3) Attitude
. (4) Values o

TERRE s

Consolidation theory explains which of
the following? - )

(1)
(2)
3)
4)

29, Which of the followmg is' the most
/ subjective method _of educational
psychology? v IEERT (K

(1)
(2)

28.

Learning
Memory
Motivation
Creat1v1ty

Introspection
Extrospection
Observation

ExPenmentatlon

o (3) |
Albert Bandura is asso : h
of the following? ciated w1th wh1c

(1)

@)
@)

Social learnmg theory
Behavioural theory

Cognitive development theéry

(4)

Psychosexual developmeﬂt
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am—III / PART—III
aT-II (30ft) / Language-II (ENGLISH)

Candidates should answer the questions from the following part only if they have
opted for ENGLISH as LANGUAGE-II -

VG{. To chew the cud’ correctly means

(1) to contrive against someone
(2) . to die on'duty

\/(8)/ to meditate

(4). to inculcate virtues

Directions : Complete the sentences in the
following questions (Question Nos. 62 to 64)
with most appropriate choice. - 0% 4

\

62. He was very much ashamed- his
mischief.

(1) for

_2) of | ;

(3) with
(4) over i ; I-'fgf-'fjf» ,‘

/  63. the stood first, he would have gone
to America. SR

If — e
Had o ra
(3) Have :r FB R i o
(4 Anyways '

647 Of the sword and pen, the
powerful. -
(1) last one " @
A2y later
(3) latter
4)

hich prefix ;can be used -with'.the
following words?

___is more

4

ast

behave, guide, use
(1) in
(2) dis .
€7 mis |
(4) re o

e

Paper-11/C 10

(5/- Choose the correct sentence.

(1) The committee were one on this

point -
) The committee was one on t_hls

point.

(3) The committee was divided on this’
point.

) The committee have one on this
point.

hich of the following is an example of
simile?
) I wandered lonely as a clQud.
(2) Life is a dream.
Anxiety is sitting on her face.
) A lie has no legs. TR,

68. Change the following sentence into
active voice :

"The visitors."' were shown . the
newborn by the woman. ' .

(1) The newborn was shown to tHe
JT visitors by the woman.!
(2) The woman has shown the newborn
to the visitors.
<) A3} The woman showed the visitors the
newborn.

(4) The woman might have shown the
newborn.

. Select the antonym for the word '

‘adverse’.
—(1) Hostile

e S

a

-(2) Friendly -~
Inimical R
J W) Unwilling e,

70. Fill in:the blank with correct word ‘to
complete the proverb :
F Bloodis_tt:

-than water.
(1) thinner
A2). thicker
(3) purer - r
(4) precious | R EuE
9 A
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71, Bees are kept in

(1) a pantry
(2) a nursery
3) an apiary
(4) an aquarium

The idiom ‘green-eyed monster’ means
(1) to be jealous
to be sick
‘“(3) to be angry
4) to be blind

3. Select the sentence in which the article
k_“llrx?jbeen wrongly used.

He is a MA.
(2) Twelve inches make a foot.
(3) A pupil should obey his teacher.

(4) He is a European.

Pick out the correct question tag for the

following :
People  shouldn’t drink “and
drive, 2E i
@,) should they?
(2) shouldn’t they?
(3) isn't it?
A4) shall they?

V sentence is divided into four parts
(a), (B), (©) and (D). Point out the part
that has an error :
(A) You are learning English
(B) for the last one year
(©) . but you show
(D) no 1mprovement at all.

() B
4 D

“h

767 Give one-word substitution for the

following :. (3
The scientific study of insects

(1) Criminology
2) '
@)

(4)

Entomology
Mycology
Meteorology

Paper-II/C
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77 Point out the correct direct speech for
the following :

I asked why he was looking
through the keyhole. -

(1) “Are you looking through the
keyhole?” I said.
(‘2) “Do not look through the keyhole,”
I said. ’ .
/(8) “Why are you looking through the
keyhole?” I said. - ‘
(4) “You -are looking through the

eyhole,” 1 s'aid.

8,/Put the verbs in the brackets into the
correct. present tense :

My daughter never. (wnte) to me
so I never (know) what she (do)..

My daughter never wrote to me so
1 never knew what she do. =~

‘My daughter never write to me so
I never knew what she does.

- My. daughter never writes to me so
I never know what she is doing.

My daughter ‘never writes to me so
I never knew what she does.

79/Pick out the correct synonym of the

word cantankerous

(1) Rash
. Pick out | the sentence ‘that has a

——

(2) Quarrelsome:
demonstrative adJectlve in 1t
(1)

(2)

Itis a twenty kllometre walk

-This kind: of question 1si0ften asked
in examinations.

-

Each of them received' ten rupees.

(3) -

is written statement dlffers from
his oral one.% ’

11 Y P.T.O.



Directions : Read the given passage carefully
and answer the questions (Question Nos.
81 to 85) that follow by selecting the most
appropriate option.

Work expands so as to fill the time available
for its completion. The general recognition of
this fact is shown in the proverbial phrase, “It
is the busiest man who has time to spare”.
Thus, an elderly lady at leisure can spend the
entire day writing a postcard to her niece. An
hour will be spent in finding the postcard,
another hunting for spectacles, half an hour
to search for the address, an hour and a
quarter in composition and twenty minutes in
deciding whether or not to take an umbrella
when going to the pillar-box in the street. The
total effort that would occupy a busy man for
three minutes, all told, may in this fashion
leave another person completely exhausted
after a day of doubt, anxiety and toil.

Sl/ahat is the total time spent by the

/4 elderly lady in writing a postcard?

(1) Three minutes
Mun day
(3) Four hours and five minutes

(4) Half an hour:

What happens when the time to be
spent on some work increases?

(1) The work is done smoothly.
@) The work is done leisurely.
@) The work consumes all the time.

(4) The work rieeds additional time.

Paper-11/C 12
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83. at does the expression ‘pillar-boy’
stand for?

(1) A box attached to the pillar
(2) A box in the pillar

(3) Box office

p A pillar-type postbox

84,/ Who is the person likely to take more
time to do work?

(1) A busy man

})/ An elderly person

(3) A man of leisure

(4) An exhausted person . It

85, Point out the most appropriate
explanation of the sentence, “Work
expands so as to fill the time available
for its completion”. '

(1) The more work there is to be done,
the more the time needed.

) Whatever time is available for a
given amount of work, all of it will
be used.

o

(3) If you have more time, you can do
more work.

(4) If you have some important work to
do, you should always have some
additional time.

https://www.freshersnow.com/previous-year-questjg&-rpr%o(]%?/ CamScanner



Directions : Read the given passage carefully
and answer the questions (Question Nos.
86 to 90) that follow by-selecting the most
appropriate option. y
Helicopters are very differént fro‘i,;lirplane&
They can do three things that airplanes
cannot do. First, when airplanes “move
upward, they must also move forward, but
helicopters can move straight up without
moving ahead. Second, helicopters can fly
backward, which airplanes cannot do. Third,
helicopters can use their rotors to hover in the
air, which is impossible for airplanes.
Helicopters can perform actions that airplanes
cannot, they are used for different tasks.
Since helicopters can take off without moving
forward, they do not need a runway for
takeoff. They are used in congested areas
where there is no room for airplanes or in
isolated areas, which do not have airports.
Because they can hover, they are used on fire-
fighting missions to drop water on fires. They
are used in logging operations to lift trees out
of forests. Helicopters are used as air
ambulances to airlift patients out
situations, which are difficult to reach by
conventional ambulances. The police use
helicopters to follow suspects on the ground
" orto search for cars on the ground. Of course,
helicopters have military uses because of their
design and capabilities.

86. The word ‘congested’ in the passage
o, eans ) ‘ P ¢ P}

(1): the place is roomy

M'place has no place
— ;

(3) 'the place can be accessed by police
.vans K

(4) the place has so much of smoke
due to fire

Paper-11/¢
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87. AMelicopter can hover while an airplane
annot, according to the passage.
‘Hover’ in the passage means

(1) stay at one place in the air
df)\ move ‘straight up in the air
(3) go backward in the air D(

4)/ fly sideWays

oL

. Point out the grammatical category of
the word ‘perform’ in the passage.

(1) Noun
(2y Verb
(3) lAdverb '
(4) - Helping verb
89,/ Why is a helicopter used as an

ambulance?

‘Its movement '‘can be manoeuvred
easily.

(1)

(2) . It crosses all difficulties of traffic.

(3\)yeqches the inaccessible places

easily.
S

(4) It can fire-fight.
‘ .O. Point “out" the grafhiﬁatical category of
the word ‘very’ in the passage.
(1) Adverb .
(2.)% Adjeqt;;ré |
(_LQ(\ | Nou;n |

4) Vers

13
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a—III / PART—III
9TT-11 (SeFd) / Language-II (SANSKRIT)

Thenedt PR W % WE % I e e 2 a9 I o freed @A g Al

61. T&: i yreafy’ arew w1 arey ufedd g 66. e ‘wagTd: F fe a
(1) e firem: g (1) wwad = sl =
(2) T i e (2) T Wl ¥ |
@) o fre: T ® F‘“‘“ﬂ:j;{‘_‘"
(4) TN farsg: wreafa) ) ' '
‘ 67. T U1y, T THR, TH-TeH, Fgao B 89 3
62. ‘ArifeE Wy ey’ e 4 g (1) ==
'f_' '.':% , @) =
(1) o9F Q)
(2) ™ © (4) ==
AL 68. ' + HeAl’ ﬁﬁ—r-ﬁﬁ?ﬁﬁ%’f
@) S (1) @ wE
63, ‘T A g, I O ¥—g@ A H @ TE
g SR ) TR |
(1) e s AT | () T E '
(2) erhed Hiesh A=d | 69. FH-8 TR W T8 B? :
(3) W A . (1) §39F |
(4)"‘a1m1:ham'ﬂa%rl ' (2) &I i
(3) wanah
64.ﬁmﬁ@ﬁ={-m T TENRT R anf‘aa;ﬁ (4) '3 2t i
37 L A :
) . 5 : 70. < ) ThR, IH |
(1) “AuferRg - (l?q;gm:{ T T 1
@ ‘ém"“"““f, (2) i
(3), - FETEEET, (3) @
) RrgeE (4) W
ss.aqzﬁf%"ﬁaaqﬁﬁﬁn—m‘ma’m%? 71.31?ﬁa¢§i?ﬁﬁﬁmﬁﬁr%mgafmﬁm 1
a = (1) gﬁaﬁm - %
CR (2) - W T
@) ™ (3) ¥ % ST ERT
(4) I (4) Tt % 5
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frdy ; frfefd TEET F ARG Yo v | 75, W TE AR

HeE 72 & 74 T 1 W e IR I i

G sEoRE TR W B (1)

;A A Wi | W«ﬁw{gﬂ&m (2) T
gedln wE 99| AR T R SHET IqwR

From: o wSH wEE e R ) @

TERTHONE  SEE wAN WY W) sH- 4) fa

FEATAE Gegel FAE, A, FHOT ¥ W

TR | WEQEIT R WS T i) 76. G TERE T AAR

Y WA Hee ToReeqv aftfay | seiged _

4@ @ wEfd 3 @ fwE RE e o) (1) e S d s

PRI ISR T T~ | Feld: ey, fRe a1 ) e e

F 7 M| THIRY RIS | T2 g

Wﬁﬁlgw:qﬁﬂﬁamﬁ|m; g R (3) oFErad ¥@ A

T TS| WEREd W W Iy (4) o e

QWHRATGHI 3, STHTH QA T FHe ey

] S () 77. T A FR-WER TR
72. e g Al (L)3° e )
(1) =g (2) 3 T kR
(2) @-fe: T ST 88 @ *® - fitBITETRe (€

@) weha=: | @ 4

@) w@-a0w: |
BN i & 78. ‘Ui’ H BA-WEERL o
73. ‘W' wAwy o pae (0 (1) deges = w0

1 s T @) TR s

2 e @) R

(3) T ‘ - @ =

(4) 3mTe

79. REAT: G, UG < -1 ¥ %‘?:1 "

74.@%@@@ aﬁiaq‘ i
' ‘ (1) 3o g&y dgaed T

(1) ey

B iy @) s g e

B) =Ry . . e (3) WeAH [ ThaS '

(4) W?ﬁg g GTTeT TE {3 4) 'ng'qggqﬁaqq D
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80. ‘Fiar=a’ & foran forad ergam Bl ©7 85, ‘uqar’ W}
(1) i (1) ‘geowwy #
2) 4 (2) ‘gemeay
5 (3) ,‘wmi%zamﬁlﬁﬁ’i’ﬁ
e (4) ‘ArerdyEy H
@) fo= yer ‘ |
86. -1 35 T 1 A0 I Qw8
81. ‘WHSIRYE, w8 W& R (1) g #
2) ‘e H
(1) 74 (e ¥ |
) @) ‘Froarde ¥
) 47 (dafaE) SR | .
3) 37 (& ' . A
e 87, ‘aESeTEETEaEa:’ § arees: e
(4) 34 (Sfw) (5) Plwo R ,
(1) == &l
82. ‘mmm’ﬁ%ﬁmEm% (2) SAEEHITE FH
(1) ¥a: 99ag (3) WEE:
(2) g THER: (4, RrET
(3) TSI 88. IHH STTER Tl 8
() wEREE: (1) el aofegl A gREf
(2) oFYF ToiEEl h R | |
83, ‘wHerE:’ R @ ¥ , (8) T W THU e vt A TRE
(4) ST WA TR F; b
(1) it deged 1 gl <h o
(2) =gl dege 89, $TEYE T @
(2) A A
(4) TR g i (h 8, “seraiam
. ‘ . (4) &l
g4. ‘J urg Tz THR I ToY ThaH H1FIR ) o
(1) - 90, ‘TN R i z=R’ <+ ey Wi @ i
R (1) T o Ay
o (2) wﬁﬁwrﬁm, ' :
(3) -‘ﬂﬁf& (3) mﬁhm:ml
(4) TR (@) T Rom e <y
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HR—IV (A) / PART—IV (A)
/ MATHEMATICS AND SCIENCE

qﬁmzﬁﬁwﬁﬁﬁ:lsm%mﬁ%mmméwawﬁivﬁm@ﬁammﬁmwﬁ
Candidates s answer the questions from the following part only if they have
. opted for MATHEMATICS and SCIENCE

91. a'rt-;em E-4-98 F@ T Dy, oo
Culdl

(1) 9999 (2) 1899
(3) 9000 (4) 9801

92. 59 x!3+1 R x-1 ¥ W R 5, A3y

1 s=m?
(1) O 2 1
3) 2 4 -1

IR Ad BUT=E C & AR Iv@g=m &, @
AU(ANB) g ster 37 .

(1) AnB (2) AuUB

3 A @) B )
T i 6 SaE qiaay 5% w¢ S #1 3
IaAM B 3@ TG A SEEE 4410 @/, @
QA T4 g4 Iq e H SHEEn fhat o7

(1) 4420 (2) 4430

(3) 4440 (4) 4000

93.

94.

95.
g Tl 1 fogem i R AR @
3ifhd geq € 100 B, @ A FW SR R

W €25 W@ H S kA T F
IR H

91, Find the biggest 4-digit number which is
perfect sql(lare.
\ 2009
%)

9999
9000
92 en x13+ ®-1, then
what mmder O
(N0 2 ¥ '
\/z;/z @) -1
93/1f A and B are non-empty subsets of a
set £, then Au(@ﬂ@ is equal to
\y})/fan a2 AUB

4) B

\Q/ﬂ’fgg)pulaﬁon of a village increases by

5% yearly. If résent the population of
the village is{\4410,/then what was the
population bef6r€ two years?

(1) 4420 (2) 4430

4440 W4000 -
95 A company makes an advertisement of

shares to collect a capital of ¥ 25 lacs. If
the printed price of one share is ¥ 100,
then find ‘the number of shares

T IRRAT < G Fa Hif circulated by the company.
(1) 20000 (1) 20000
(2) 25000 ) 25000
(3) 30000 (3) 30000
) 15000 VA) 150001{ f 52 playi ds, a card
96. T8 52 8 s ey s |6 Fro o ack o 52 ping a1 o
@ T s 81 70 iR & 16 TEFH iorob;bility that the card is a spade or an
ib'l’e?lmsﬁﬂaﬂ? - acc?4 5 SO
4 6 =
(1) = 2) T \U’/ -183 (2) §3
8 .2 8 2
(3) 13 @ 3 (3) i3 (=
"% @ % RTg IE / SPACE FOR RO>UGH WORK // 4 ) q/ ( u'-)
- .
(s et =T
)1 U
AU (_A ) ) ‘ = V‘
5 ) o
Paper-11/C ANGZS Dlippaio,
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(9 sr

https://www.freshersnow.com/previous-year-questjg&-rpﬁle%%?/ CamScanner



97. fu m o= § ABCD v =g =W | @@
T I (x, y) B

(1)

(159,259 - (2) (10°159
(3) (15%359) (@) (40° 359
98. x % Th WM % T fm arfewel w1 agas
27 &7 L
25, 26, 27, 23, 27, 26, 24, x,,
27, 26, 25, 25
(1) 27 (2) 24
3) 25 4 26
99, I} x=2, y=1], z=-3 %,' ar
x3 + 3 +2° - 3xyz frad TR &7 '
(1) 6 @ 2
(3) 8 “(4) 0

100. T il A & Rt 3R et i qEe
1 IJFAE 3:2 T 20 3R gEul ¥ AW A
T 3ere | Rt 1 e fohe o7

(1) 36 .. (2) 40
(3) 16 4 24
101. & YRR TRfas FEAS a, b,‘c%fmzrﬁ:

2 3 4 k
d|AKFARE
(1) 10, (@ 15 ’
(3) 20 - (4) 25

g

In the given figure, ABCD is acyclic
quadrilateral. Then the ordered pair (x, y

1S

lx’)k
Y

)
M

wWt )

w8 =
\(}4 (15%:25°) (2) (10%15°)
(3) (15°% 359 4) (40° 359

For what value of x, the mode of the

following data is 277

25, 26, 27, 23, 27, 26, 24, X,
27, 26, 25, 25

(1) 27 (2) 24
(38) 25 (4) 26
99/ If x=2, y=1, z=-3, then
x3+ y3 +23 - 3xyz equals
(1) 6 (@ 2
@) & o4 0

number of ladies to that of gents was
3:2. When 20 more gents joined, the
ratio was reversed. The number of ladies

yln a religious gathering, the ratio of

“was o 4.0 |
(1) 36 %" (2) 40 |
@ 16 T M 24

1\(7?01- three non-zero real numbers a, b, cif ¥

a_b_c_2a-3b+5c

2 3 4 k o3 W
then the value of k is / {_{,w‘f
(1) 10 ) 15 17 o
(3) 20 "% 25 o

If A and B be any two sets such that
A\ B=A, then AnBis

(1 o 2 A 4 1) o MY A
(3) B (4) AuB () B 4 AuUB
A I% @ % f S8 / SPACE FOR ROUGH WORK
\ AN A
Paper-11/C on it
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103. 4R W x2 -bx+c=0 ¥ 7 ??IW%
o e @, A b2 -de o
(1) 1 2) -1
@) 0 “4) 2

104. @ wEAH F Ho Ho IR To Jo www: 13
¥R 1989 B I TF WEA 117 R, @ qud

TET B
(1) 222 2) 221
(3) 223 @) 225

105. St TF ¥ B IEF Te¥ J 10% T4 W
Tled ¢ 3R IGF T A 10% 31fres ) J=an
2| g A B

(1) 20%
@ 227%
- 9

(3) 222%
9

(@) i & ¥ g 7

106. 7R T x2 - px+54=0 % & 2:3 F

I A &, @ p I AA B
(1) 18 (2) 21
(B) 2L, e popo 4) 15
107. 3 wegdE wiFedl # IAwAl HAFI@
25:64 U1 ITH ATE 1 AW 4:5 Bl T

G 1 A B
(1) 1:3 (2) 1:4
(3) 5:8 @) .12

108. AR A={x:x W= BELOW 1 T &R B},
B={x:x Y= WOOL % TF &R 8} qu

WG/.\If the roots of the equation x2 -bx+c=0 < @)
are two consecutive integers, then

b2 -acis
o S S )
“4) 2

3) 40 ‘ T Y
() A S T
104. Phe HCF and LCM of two numbers are
13 and 1989 respectively. If one of the
numbers is 117, then the other number

is 0 v
(1) 222 £2y7221 1 v Y,\,Qf)
223 (4) 225 a4

3)
é?/ Jatin buys an article for 10% less than
its value and sells it for 10% more than

it v;lgoj. His gainis i
:21 22%%_ N T \tg%“ .
\/6) 22%% 5 1 e r
eqation

(4) None of the above
106, 1f the roots of
x2 - px+54=0are in the ratio 2: 3, then -

the
the value of p is H L b
(1) 18 2) 21 O
(3), -21 4 15 Bt
107,/The ratio of the heights of two right

circular cones is 25:64 and the ratio of
théir diameters is 4:5. The ratio of their

volumes is
M 14

(1) 1:3
“4) 1.2

3) 5:8
‘ f A={x:x is a letter in-word BELOW},
B={x:x is a letter in word WOOL} and

V0

C=A-BR. A £ FE 8 ~7"C=A- B, then the number of subsets of
m 1 o c%};:m;)gaji s iy ; ELyo,L
()2 .: 1 @2 iy / 4
@) +3 (4) 5% i (3) 3 (@) 4
109. 5% g % fal 10cm 3 240m 1| 0073, perimeter of a rhombus whose
WW% : diagonals are 10 cm and 24 cm is
(1) 120 cm (2) 34cm | , (1)5120 cm (2) 34 cm
(3) 68 cm (4) 52cm —~ (3) 68 cm (4. 82 cm
T @74 % foTY W8 / SPACE, FOR ROUGH WORK
f
4 "
23 [P.T.O
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c)/N’rv JQH' \C@

10 vt 61 Meg 4-5 qo 9 F AT 35

is 40. If the mean of the first 10

110. T wagw § Yo H‘@%%LO/% | afe 9& \/The number of obseréatlons ih a survey

A R FE0 5 e d
(1) 2-82 o (2) 380
(3) 375 4) 425

111, 14 cm %R 91 TF 319 ¥4 | Afrehad e
1 T TG S R Sl 8| 36 97 H
. w7 R

(1) 924cm? | (2) 1134cm?
(3) 2464cm? (4) 616 cm?

112. soé@r&aﬁné.%mmﬁssﬁ@m
S § 3R W el w1 Ay -3.5 81 @ T

TEal 1 oA §
(1) 495 . (2) 535
(3) 465 (4) 565

113, 39 &1 5, 9, 14, 15, x+1, 2x—13, 28,
30, 32, 34 H JARE HA § afyq
ST R 1§ TSl 6 AT 24 | x 1 AH
BRI
(1) 20 2) 19
3) 21 4) 16

114. T AeH = 44 T 9 A1 # = oft )
oM = fradl wa/saer T 12 A d =
e
(1) 15 THE S9m@

(2) 11 TE ST
(3) 1174 FH
@) 15T HH -

115. = § A FH-71 FoH T 87 ;

(1) Thm H fabm TR, ¥ aﬁsmﬁm

'Wﬁﬁf—@ﬁ g W R g

(2) S ) T R oft TR A e
gl 8l

(3) “emfer @ 93 R ot Fregsit A T

TE 1 Fehelt B
(4) e @ g T oft wiferh @ S
et 21

observations is 45 and that of
remaining is 3-5, then the mean of the
whole survey is
(1) 2-82 (2) 3-80
375 4) 425

‘1}/( A right circular cylinder of maximum
volume is cut from a solid cube of
edge 14 cm. The total surface of the
cylinder is ;
(1) 924cm? (2) 1134cm?
(3) 2464cm? 4) 616 cm?

1127 There are 50 numbers. Each numby\is
subtracted from 53 and the mean o
numbers so obtained is —3:5. TH% e

of the given numbers is w
@y 495 (2) 535
(3) 465 (4) 565 7

@Ten observations 5, 9, 14, 15, x+1,
2x-13, 28, 30, 32, 34 are written in
ascending order. The median of the data
is 24, Find the value of x. 5
(1) 20 2 19 9
(3) 21 “4) 16 '

\7'14. 44 cows can graze a field in 9 days. How
many less/more. cows will graze the
same field in 12 days?

(1) 15 cows more

(2) 11 cows more

11 cows less
4) 15 cows less
115. Which of the following statements is

true?

(1) Different branches of Mathematics,
viz.,. algebra, geometry, etc., are
dcpendcnt on each other.

(2) Equations can be learmt without
learning arithmetic. >?

(3) Congruence of triangles can be

» learnt without learning algebra.
(4) Statistics can be lcamt without
s learning algebra.

TF % & foTg W8 / SPACE FOR ROUGH WORK
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116, frfafad # @7 awm
G S L R

) feidl B I e
@WW%%EW%M #

2) Wmmm‘ém
(3) Faet Al @R I T HA
@) & Rl A T @ § v

117. 9 A H I B & 99 ¥ 25% 31fe 3,

A BH Aa4 A A4 ¥ Tohem wfer o 27
(1) 25% (2) 18%
(3) 20% (4) 15%

118. @ WFkS dEms AW 8 ¥ AR FH
wmm%aaﬁaﬁm&ﬁaﬁm

s
1 1,7

(2) 4,4

119.

11(6;?@ among the following is the best
edagogical way to teach Mathematics?

Motivate the learners to develop
their existing capabilities

Find the weakness and .teach only
those parts

Find the gaps and address only
them

Teach every student with the same
approach | ) T

. /
\1)[ If A’s salary is_25% more than th{at of B,

then how much percent is B's salary less
than that of A? ‘

(1) 25% )
@y’ 20% @)

118. PHe sum of two natiral numbers is 8.
v/ Determine the humtée;js, if the -sum of

(2)
(3)
(4)

18%
15%

their reciprocals is 177 @
15 @

(1) 2) 4,4

(3) LHas

119. fhe expenditure of a family in a month
is given in the figure below : .

1ol
2,6

Education
25% 77|

Savings
20%

If the difference of expenditure between

, /7
H00 2, education and' travel is ¥ 4,000, then
:}ﬁm %2" A R S A I T %) what will be the total income of the
T o1 Tt €rflY family?
(1) 50,000 (2) 40,000, (1) €50,000 qz( # 40,000
(3) 60,000 (4) & 30,000. (3) ¥60,000 4) 30,000,
w w1 W2 / SPACE FOR ROUGH WORK
Paper-I1/C | 25 T [GRTO.
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120. FEHT 61 THo Ao AHF BT & -

(1) s«
(2) 3w
| (3) Far
g @) =
}
| © 121.3R P, F A A ¥ 7, 99 T A B
'a'z.'ﬁh‘q'ﬂ%% .
) ek @ p-E
: 3 | 7
| 3 F W
B B=— @) P=—

izzaﬁsﬁmﬁqma@méénm"m%
awzsm?lm,a‘rsamm
S <1
(1) 1 WG
(2) 2 AEH
(3)
4) J
123. @H1 S99 % Sd9 § AYE 1 YA BT B,
ERUGICCI

(1)’ mmmiﬁm%%ﬁmw
| FEEE

2) a'stﬁmwﬁm%%ﬁgam
g

(3) <o en Torege A T GETE A

(4) o e forge At T e BN @

3 T -

4 AEH i TR S

e

s —

—

e s

124, g % g 3 Y T A R R
(1pn0°% ™ inu (2) 45°7
(3) 900 (4) 135° 3

_120. The SI unit of heat is
(1)

(2)

@Y

4)

1 /H/ P, F and A represent pressure, force
and area respectwely, then

joule
erg
calorie

watt

pF () P=

=
> |y

'I'IUl
|l

(3)

:>|*ql

@) P=

12271f the momentum of a bbdy increases
from 10 units to 25 units in 5 sec, then

the forcé€ acting on it is

r—-‘

(1) 1 unit
(2) 2units = (! g
3) 3 units ' !
(4). 4 units :
124, Mica is used in cooking utensils because

it 1s

(LY good conductor of heat but bad

conductor of electricity
(2) bad conductor of heat but good
conductor of electricity

(3) good conductor of both heat and

electnc1ty

(4) bad conductor of both heat and

electricity -

124/ The angle of d1p at magnetlc “pole of

earth is
(1) ‘0° (2) 450
(3) 90°" (4) '135°

Paper-11/C
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125. 10 m R 6 @H R ¥ 20 grpe
20 forcer B 1 AT 1 w0 R al @ :3‘5“2‘10‘”8“"’? ci’ns‘St of 20 compressions
rarefactions in 10 )
(;) gg grnr: g) S0 cm wavelength of the waves 1? ik
(3) N ) 100 cm (1) 25 cm * (2) 50 cm
126. AR TE AN K K TH A5 wy 4 ) 75 cm (4) 100 cm
4 3
a3 ﬁ al ‘TFﬁ % 9N Wiy 7 w - If 3 and 2 be respectively the absolute
o % refractive indices of water and glass,
8 then the refractive index of glass relative
(1) 9 (2) 9 er is .
4 . 3 (s @2
@ 3 (4) g ; H »—-"433’ I
. . 3) — vegy 2
127. W G § $-TR 1 T Har far 27 @ 3 4 3 .
(1) < lgmousehold wiring, what e colour
(2) & gt of ‘earth
(3) el (1) Red.‘gj /
@) w ~ @ G@n@J
3) Black
128. fF@s w1 uri-werd fam %a% awvr w :4; White * 1
g ar -
s & o }é Kirchhoff’s current law is-based on the
(1) W , P : conservation of i o
(@ wm' 3 (1) enerey e O
(3) GICH) A (2) momentum (i
(4) T=AR . ' charge e s
129, f3-3Murl Fem (1101 % T 'qwaa wedl (4) mass
et 2 29. The decimal equlvalent of the binary
(1) 9 2) 11 number (1 191)2 is ” ‘
(3) 13 :4) 157 & \1‘;;/ roﬂ () “5/9/7// T
- 4 :
130. Frfi § @ e e 91 s 10" Rr g
T 27 130. ich  of the following is: ‘notita —
(1) " " /'t(;n/stituent of petroleum? ~ : (7
@El C Petrol .- .1
() % * J?La/kz L
(3) ﬂl‘lﬁﬂagﬂ i ;: ' paraffin, wax_ ot .
. (4 &S (4) Lubricating ol B
131. T% 9§ M It | fopen "R 3@“ Ha:‘ qﬁ Mmmes not liberate, hyFirogen
Al § W mﬁﬁmm@ﬂamm fromacxméc?tsmthoxygerrtnge
!ﬁﬁﬁ%mm MR IR la colour 'product. Identify!-M.
(1) Na (2)° Mg (1) “ (i) ‘Mg
(3) Cu (4) Ca @ © ( ( ’%
o T {7 E /.SPACE FOR chnnb\yox?.?7 H
W, culse P
) E £ @é O )
Cw bv NI PRO
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132. frafafas & @ foras qwrgaﬁ # @en | 132 Which of the following has_maximum
anftrepan 87 ' number of atoms? ~
() Npg% 16 g (1) 16 gof Np /
2) CO,®16 g (2) , 16 g of COp
| 3) CH4% 16 g 16 g of CH@
?3 (4) Og%F 16g '~ ~, 4 16 gof Oy 0 Y
f. 133. gq‘mmﬁ P RIE aﬁtﬁﬁﬁeﬁaaﬁﬁmﬁ% 133. In laboratory,’ ethylene and acetylene
“ mmﬁﬁﬁ‘dmm%? \ can be distinguished by
ji | (1) Bro/Ho0 £ (1) Brg/Ho0
‘~ © , o
(2) KMnO4/OH/H,0 - (2) KMnO,4/OH/H20
(3) =le atfts : R (3) Tollens’ reagent
@) e foemm N (4) Fehling solution
134. = Afit § 9§ frad :miﬂ:ﬁa:[ £ :qmﬂw (7/In which of the following compounds
E‘@n +2 %? : ' the oxidation number of oxygen is +2?
TWror, o @) Nago | (Jy) or 2) Nag0
. (31"?€Na02 (4) NaOgj ) ; 3) NaOj (4) NaOg
135. wﬁmw F1 ThHeTsh Bl & - ; 135. The monomer of natural rubber is
(1) femim .. Voo .oRY (1) Neoprene
— AT t N ) Isoprene
f (3) m . 194 i 3) Terylene
7 (4) SRS rutmomen (%) (4) Orlon
' 136. a4+ EWWW% o . Which compound has the ]:ughest
;'\ (1) ndH SoaL _ . boiling point? :
! A (é) Ayigvng | o R (1) n-Pentane
o 1 (3) I ii : ' (2) Isopentane
i § LN -} AP . (3) Neopentane
| L ) Wﬁ; e (4) Isobutane % .-
‘ - 137. - :mg N i? ﬁ Whe number of m-electrons in the
; s a molecules of aromatic compound is
i (;) :n '2 (i) ;’“‘i P (1) 4n 2) 4n+1
B (3) 4ni () 2n+d g 3y 4n+2 (4) 2n+4
i 138m%m(a)mwﬁvhm%1 L utherford’
8 tfomeey @ R T ather’orc s alpha () particle scattering
§ | | L o experiment resulted into the discov f
i ) WeEE hi5H ~J (1) proton T /-
x \ (2)n ‘R'quﬂ‘ﬁ HTﬁﬁiFl , 2 5ld 8 @ nucleus in the atom
g (3) THEgH I (81 (1) (3) electron
“(4) trmwaﬁwwaﬂ ( (4) atomic mass

. TRFM % i WR / SPACE FOR ROUGH WORK

.
! e N
14 { + v e

~ L

PN~
s
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139, fiffad A ¥ FHA T Rrwmid fya

o ' 139 hehmh one of the following is not a
tere s mixture?
(1) @ (1)
) iqA C(2) W 11k
(3) g (3,
(@) e @) Je oo
140, RHITCH FT FEAI 37 140. silk farming is k
g nown as
(1) afiera (1) Epiculture
(2) ECICT I (2) Pisciculture
(3) Flhe=W Sericulture
(4) Wi IQ (4) Agriculture
141. MW A ¥ ¥R @Y 919 woe sﬁamﬁ . All organisms belonging to the kingdom
T2 Protista are
(1) mﬁq qon m (1) unicellular and eukaryotic
(2) THHNT qun NFHhEfes (2) unicellular and prokaryotic
3) ?@ﬁ?ﬁq‘ﬁﬁﬂ AR . (3) multicellular and prokaryotic
) Wﬁﬂ e m (4) multicellular and eukaryotic
Which of the followi i i
142, fefafaa 1 @ F9-w Tvis 6Nt F g A ’ : ; ing pigments is
associated with the germination .of
ey T@are? see '
(1) W’s@l’q ¥ (1)®;ome j
(2) TR (2) Plastocyanin
(3) TR (3) Chlorophyll
4) SFeNfra (4) Xanthophyll =
» '/ >
143. 98 0%, S T g8 () @ 3.“5'& 7@ @ [ 143. The tissue that connects one bone with
e % FEeTd the other is called :
(1) =Emg e (1) adipose tissue
2) cartilage
2) 3uIfey (
:3; (3) epithelium ‘
SRR ligament
@) R e e
. . Viviparous germination of d
144, S (R : ) @Tﬂ% : b g of seeds occurs
(1) wmAE (1) mango
(2) TEEwT A (2) rhizophora
(3) e H (3) potato
@ = # (4) sugarcane
I wrd % forg W€ / SPACE FOR ROUGH WORK
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i 4 e

ki

145.mmwﬁm%wﬁaﬁm
1 HId ¢
(1) A SEATaEe
(2) @
(3) TS
@) AR
146. Th &1 98 <, 1 ggul T aiefat i 56
Waﬁaﬁmg ?
(1) WErd
(2) B
(3) wifmm
(4) TS
147. <Rew 6t Difteend TRt urd s &7
(1) HEE
(2) aIPd
(3) Ir=EE
4) &1
148.@@@1@1&@@%‘@%%
(1) fafee
2) =
(3) FEiEESE
(4) WA
149.ﬁt{%1ﬁ§aﬁﬂaﬁq-mmﬁaﬁmﬁ%?
(1) i o
(2) Uit 30T
(3) Tk 3t
(4) wififeh v
150. AR a, a+2, a+4 aﬁmmﬁ‘r WadF
fore T 87

145. The source of oxygen liberated aq
byproduct during phOtOSYnthCSIS is

(1),. carbon dioxide
°1~(Z)/ water

(38) glucose

(4) chlorophyll

. The component of blood that prevents

its clotting in inta od. vessels is
,@Aﬁibody
) heparin

thrombin
(4) ) haemoglobin,

\ Islets of Langerhans are present in
(1) stomach
(2) liver

(3) pancreas

( heart
148/ Enzymes are chemically
(1) lipid

(2) acid
(3) carbohydrate
protein '

1497 Which of the followmg acids is also a
vitamin? -

(1) Formic acid
Ascorbic acid
(3) Maleic acid

4) Pagmtlc ac@
@)/If t? a+2, a+4 até prime numbers, then

the number of values of a is

(1) oné ) tl, j
(2) @ 2) two ( (?
(3) = (3) three
(4) o & At (4) more than three
% W1 &% foT¢ ¥ / SPACE FOR ROUGH WORK
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TT—IV (B) / P
PART—IV (B)
T
AT /37 fq9% / s0CIAL STUDIES/OTHER SUBJECTS

uﬁmaﬁﬁﬂ%ﬁ? L O S ——— NI e T
Candidates should answer th A g ‘{-ITB’I
opted s Seoquestions from the following part only if they have
CIAL STUDIES/OTHER SUBJECTS ,

91. | forehTd FRIFA’ & Ty oy o
i 1952 %

(2) 195594
(3) 1957 H
(4) 1960 H
YR & IAAH AEEE A IR gRye %
g g w1 faera '
(1) ¥R JETE < ATl H
(2) w=H fir % amet &
(3) eIy % AHA H
_(y e ¥ e A
03. Wi dRuW ¥ FR IR ¥ oW,
T T fadee w1 et i wiE & e
il @A i Witk T &7 BH
(1) 7<% 52
(2) TF=8% 108
3 3= 200
(4) oTg=8< 213

94. 9T ¥ ST 1 e Fateen-ATee &

(1) Tg 8 & qeft 9e

" wHE % A e b it

(8) e % 2N wel F FaitE T

@ wawndfairmwEE
95. T w1 i (ad) 1 WA T &1,

(1) oW » o
& (2) [um

(3) iR

@Gﬂqﬂ

92.

Paper-11/C 31
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91. ‘Community Development Programme’
was started in the year,

(1) 1952
(2) 1955
(3). 1957
(4) 1960

92. The Supreme Court of India enunciated
the Doctrine of Basic Structure of the

Constitution of India in

(1) Shankari Prasad Case

(2) Sajjan Singh Case

(3) Golaknath Case o

(4) Kesavananda Bharati Case

93, Under which Article of the Indian

Constitution, the Governor has the
power to reserve a Bill for the President’s

assent?
(1) :Article 52 #:° R
(2) Article 108
(3) Article 200 Ly
(4) Article 213 o
94, The Vice President of India ‘is.,‘elected'
by the members of an electoral college
consisting of e
(1) all the members of the Council of
States NN
(2) all the members of both the Houses
of the Parliament .

elected members of both fhe
Houses of the Parliament

elected members of the‘_CQﬁncil of
States . 1
95. Which country is not the member of
SAARC?" '
(1) Bhutan
(2) Nepal
(3) Bangladesh
(4) Japan

®)

(4)

" ero.



96. TSIYd U’ % orash HH 37
W%om
(2) T3 FW g™
(3) Slo A =g
(4) T=go o IR
97. T Fal H WY B
(1)—& e |
{ﬁm%
(3) MYk wen |
(4) wifRTR %en @
98, T f&wgT Fed &
(1) i TRRI A
2y S SRt ¥ s A
(3) = ® =+t fevmA
(4) ST A & <hié el
99, v F1 Y TRY T 9 B7
(1) W W
(2) THE W
(3) HEWIZ
A THEE
100. %Tgﬁrﬁwﬁﬁﬁ gﬁﬁﬁ%ﬁmﬁm
R i O Y
22 2) 13
, (3) 12 @) 9
101. fogearh wiid # y& ok foga g Fremw
Fraa TR &7 ;
12 2 8
\%;/)7 4 11,
102wmmmﬁﬁamﬁ%ma%m
2 ’GﬂﬁT%? )
(1) ¥R
(2) AT
B) g%
(4) &I
103. Eﬁﬁaﬁ“mm“ﬁﬁ?
(1) Go ToReM WRRS
@ Gﬂm'ﬁ@“

https://www.freshersnow.com/previo

Who is the writer of Rajput Painting?

(1) Ananda K. Coomaraswamy

(2) Rai Krishna Das

(3) Dr. Moti Chandra

(4) W. G. Archer

Folk art is associated with

(1) regional art

(2) painting

(3) modern art

(4) prehistorical art

Geometrical design is called

(1) geometrical forms

(2) the design made by geometrical
forms

(3) the design made in square

(4)  None of the above

Aipan is associated with which State?

(1) Uttar Pradesh

(2) Madhya Pradesh

(3) Maharashtra

(4) Uttarakhand

In total how many Shrutis are there in

Hindustani Sangeet?

(1) 22 ()

(3) 12 4)

96.

97.

98.

99.

100.

13
9 v.

101. How many Shuddha and Vikrita Swaras
in total are there in Hindustani Sangeet?
(1) 12 2) 8
3 7 4 11

102. To which Gayaki is Char Taal used?
(1) Dhamar .
(2) Taraana
(3) Dhrupad
(4) Khayal

103. Who among the following is not a

Tabla player?

(1) Pt. Kishan Maharaj
(2) Zakir Hussain

(3) Ram Das Sharma

(4) Ahmed Jan Thirakwa
The First National Games
organized in

(1) Delhi

(2) Bombay

(3) Calcutta

(4) Madras

104, were

32
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(1) TEFIHL
(3)
(4)
106. O« foad el A1 ST Q7
(1) 25 30T
2y 29 T
(3) 30 T
(4) 31 &
107. A % WY A WE T 9 o ¥ Juw
S 87
(1) Wl st
(2) el Tre
(37 e westiel
(4) wefl <Ew
108. g’ I WieH fora o @ g 27
(1) ™
(2), WEEH
) W&l
(4) %
109. T H A-T TEA gHSH T B 87
(1) TR
(2)
(3) faht
T AR

110%@@%@?@‘@@‘3%

™ R
(1) 9 (2 12
) 15 ‘ @) 22
111, 5% <9 Al Hafd @
Yk sftsl &
(2) “smurE d= -
(3) wwifra fist
(4) sfigpa <fisr
112, Weﬁmﬁa@mﬂﬁmwﬂ@ﬁ
(1) teER i
(2) ERF A
B) ¥ #
44" aETS |
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105.

106.

107.

108.

109.

110.

111.

112.

“Today India does not need Gita but
needs a football ground.” This thought
was given by which thinker?

(1) Radhakrishnan )
(2) Swami Vivekananda
(3) Plato

(4) Rousseau

The Sports Day is celebrated on

(1) 25th August

(2) 29th August

(3) 30th August

(4) 31st August ]

Who is the author of the most prominent
book on Yoga, Yog Darshan?

(1) Maharshi Bharat

(2) Maharshi Narad

(3) Maharshi Patanjali

(4) Maharshi Devadatta

‘Zein’ protein is related to which crop?
(1) Paddy

(2) Soybean

(3) Maize

(4) Oat

Which breed of cow is of dual purpose?
(1) Gir

(2)  Jersey

(3) Sindhi

4) Tharparkar \
India has been divided into how many
Agro-climatic’' Zones?

(1) 9 @ 12

3) 15 (@) 22

The progeny of nucleus seed is
(1) breeder seed -

(2) foundation seed - /
(3) certified seed

(4) registered seed

The Central Institute of Medicinal and
Aromatic Plants is situated in G

(1) Hyderabad
(2) New Delhi
(3) Bhopal

(4) Lucknow

‘[ P.T.O.
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it e rmio S
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3

113. Ao sHM ¥ fre waifies 399w % @
(1) e
ﬂ ST
(3) wE
(4) &=
114. ¥ T Hafieh sgaum dee [ 8
(1) St
2) TEERE A
NE g
4) @GS A
115. St 790 & o afwers =1 wam g 87
T
(2) A
(3) HwHIge
(4) TR SIEITHIRS
116. FW Y o wren @
(1) e &
(2) W=t
A3 T afdem @
(4) wTE-eegS @
117. 9d TR & Fo1 foreft wafemat €t €7
(1) 22 2) 26
24

3 @) 28

118. Ao To fo 1 A w1 ¥/ F9= waam 27
(1) TS ‘
(2) fewfifan
3y P gar
(4) rch @fdl
119, iadiyia I e fora fa wamn s &7
) 217
(2) 204
(3) 25
(@) 28
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113.

114.

115.

116.

117.

118.

119,

The most suitable fruit for marmalade
making is

(1)
()

banana
jamun
(3) malta
(4) bael

The Central Food Technological Research
Institute is situated in

(1) New Delhi
(2) Allahabad
(3) Mysore

(4) Lucknow

Which preservative is used in jelly
making?

(1) Sugar

(2) Pectin

(3) Sulphite

(4) Sulphur dioxide

Saffron is obtained from

(1) bud

(2) leaf

(3) flower stigma

(4) calyx

How many ribs are there in human |
body?

(1) 22 (2) 26

3) 24 4) 28

Which disease is prevented by TAB

vaccine?

(1) Tuberculosis
(2) Diphtheria
(3) Typhoid

(4) Pertussis
On which day is International Yoga Day
celebrated?

(1) 21st June
(2) 20th June
(3) 25th June
(4) 28th June

https://www.freshersnow.com/previous-year-questjg&-rpr%o(]%?/ CamScanner



120. T ! # 71e & FHA% B 39200 By 27
(1) &
2 EL|
&
(4) TEAE 9"
121. ‘IRl & o@® A
(1) g™
2] T
(3) H
(4) dreHifH
122. Tidim g wifa &1 e s aee §
g e
(1) 39S
(2) WEURHR
(3) TR
A FEmE |
123. 3R 3 ‘gaIed @AT 1. Amion sewn o
(1) A
Hagqt HieRdt 3
‘/g gt a
4) fawreu
124.3mfmﬁwm§§aﬁaﬁ
(1). 1865 ¥
(2) 18707
@y 1875 #
4) 1880 7%
125. i ¥ N FEHIA FHie @ grEfHa TE a7
(1), TR ffe
(2) TE eMfeE
(3) ITIHEHSG @l
NG b EiE |
126. -tz ﬁwrwﬁmﬁﬁ?
(1) GE7E TS
2 4

3] T
“(4) aeE gl
127. %qmﬂﬁm%mmﬁwmm?
(1) Gg=TH - '
(2) == fammfia
B) T
(4) Th<H

Paper-II/C
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120. In which clothes is resin starch used?

121.

122.

123.

(1)
(2)
(3)
(4)

Woolen clothes
Cotton clothes
Silken clothes
Nylon clothes

Ashtadhyayi was written by

(1)
(2)
(3)
(4)

Vedavyasa
Panini
Shukadeva
Valmiki

The Second Buddhist Council was held
during the reign of

(1)
(2)
(3)
(4)

Udayabhadra : "
Mahapadmémanda

Shishunaga

Kalashoka

Akbar constructed ‘Ibadat Khana’ in

(1)
()
(3)
(4)

Agra

Fatehpur Sikri
Delhi
Sikandara

124, The Arya Samaj was founded in the year

126.

1. 127.

(1)
(2)
(3)
(4)

1865
1870
1875
1880

Who among the following was not

(1)
(2)
(3)
@)

Ramprasad Bismil
Rajendra Labhiri
Ashfaqullah Khan
Surya Sen

Who i:_s the founder of ‘Din-i-Ilahi’ ?

(1)
()
(3)
(4)

Muhammad Ghaznavi
Humayun '

Akbar BRI TN
Sher Shah Suri

In whose reign did Hsuan Tsang come
to India? ,

(1)
2
3)
(4)

\
£

Samudragupta
Chandragupta Vikramaditya
Harshavardhana
Skandagupta

[ P.T.O.

W
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I o
E

128. T 9ewTR ¥ A TRl ‘Feret’ wE1 S 17
(1) ==X
(2)
IFR.
(4) SR
129. ST %1 fI99F 03 a1 TeR-sFRe o
(1) =M
%)V i
@) =
(@) == |
130. F fire frm Tsa % wlter A7
(1) ER
A2) TR
(3) faH
@ fog
131. ffefaa # @ SW-@ fogw wems aneh

TR % SgNiaeh &9 T6 &R 1 gwi &
Tl I9gE A7

(1) Tova =1 Tsfoes aakE
(2) Toea =1 rpfe Wt
~3) T
(4) 394 # | R A
132. i fam $ uge fafyr 2
(V" s fafy
‘{mﬁﬁ
(3) e fafy
@) 39w # | 5 7 .
133. TNRE $ GUeH H gddt TN B qEE W
Tl & :
(1) Tt
wg fugi @
(3) SoiATeN F A TR
(4) ohdfes waREl A
134, U-3T&R 6 =it <1 Fmio 2 2
(1) feowe 51
V(zj/q?ﬁm
(3) WA W
(4) EITE 01 g
135. e fi aeaE
(1) Rt
Méﬂm
(3) WeweH
(4) foraam
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128.

129.

130.

131.

132.

133.

134.

135.

Who among the following €MPpErors wag
called ‘Qalandar’ ?

(1) Babur
(2) Humayun :
(3) Akbar f
(4) Shah Jahan |
The Governor-General who partitioned
Bengal was

(1) Curzon

(2) Canning

(3) Minto

(4) Mayo

Kunwar Singh was the Zamindar of
which State?

(1) Barrackpore

(2) Jagdishpur

(3) Avadh

(4) Bithoor . ;
Which one of the following is the !

most suitable teaching aid to show

proportionate size and shape of
continents? |

(1) Political map of the world
(2) Physical map of the world
(3) Gilobe

(4) None of the above

The suitable method of Geography
teaching is ‘

(1) tour method

(2) discussion method g
(3) story method

(4) None of the above

A universal language of the map can be |
understood by the way of |
(1) sketch

(2) conventional symbols

(3) alphabets

(4) thematic maps

U-shaped valley is formed by
(1) glacier

(2) river

(3) winds

(4) sea waves

The capital of Australia is

(1) Sydney

(2) Canberra

(3) Melbourne

(4) Brisbane

-

e i s 2 s
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136. T T09ra FrEm fig
(1) s T ?
(2) ¥R@Es I
(3) FA W {
(4) ofifswm &
137. F=fafaa g
JETEA0 B7 A E AW s
(1) w¥e
(2) WOR
(3) e
(4) W
ToSEaR 1 49 i e wew At d
(1) ¥ H AR
2 WIY
(3) IW-Yd H AR
(@) <fEm-gd & AR
f=fafaa # @ =9-T1 ¥9 ¥ g=fe 27
(1) aawEfd
(2) e =1l -
(3) TIa®
TR
140. frefifad § @ SA-T1 IvEREHE TEE
TE 87 -
(1) aqrzmmd(
(2) IRfer
A3) et -
4)
141.a1wﬁz=hwmanf% ;
M) aqdt SIS % 1Y Il AR
(2) e S & WF e A
MJ;, mﬁd%mfﬁnm
4

138.

139.

mm%mﬂmwi

142. Rt srem 3 9 Fr-a1 T TR
Q grafi 27 '
(1) mRER /
(2) T se@ Td /I
(3) AR ET
(4) MRRIW

143. fr @ TG e 70 @
(1) ﬂ@miﬂ

136

137.

138.

139.

140.

141.

142.

' 143'
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. Bhilai Steel Plant is located in

(1) Chhattisgarh

(2) Jharkhand

(3) Madhya Pradesh

(4) Odisha

Which one of the following rocks is
an example of sedimentary rock?

(1) Slate

(2) Marble

(3) Shale

(4) Granite

The tail of a comet always points

(1) towards the sun

(2) away from the sun

(3) towards north-east

(4) towards south-east

Which one of the following is associated
with fault? .

(1) Anticlinorium

(2) Strike valley

(3) Hogback

(4) Graben ,

Which one of the following is mnot
a tropical desert?

(1) Atacama

(2) Arabian

(3) Gobi

(4) Kalahari

Inversion of temperature means

(1) decrease of temperature with height
(2) increase of temperature with height
(3) constant temperature with height
(4) fluctuating temperature with height
Which one of the following reservoirs is
associated with Rihand Project?

(1) Gandhi Sagar

(2) Govind Ballabh Pant Sagar

(3) Jawahar Sagar

(4) Govind Sagar

Shipki La is the famous mountain pass
of
(1)
(2
(3)
4)

Jammu and Kas_hmir
Uttarakhand

Sikkim
Himachal Pradesh
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The teacher of Social Studies shouiq
have the knowledge of the subject
matter as well as

(1) educational objectives

(2) teaching methods

(3) teaching technology

(4) None of the above

The most useful teaching material for
Geography is

(1) calendar

(2) map

(3) flash card

(4) barometer

Which Part of the Indian Constitution
deals with the Fundamental Rights?
(1) PartI

(2) Part II

(3) Part III

(4) Part IV

Which one of the following Amendments
of the Constitution of India deals
with the issue of strengthening ‘of the
Panchayati Raj? ;

(1) 42nd Amendment

(2) 44th Amendment

(3) 73rd Amendment

(4) 86th Amendment;

The Office of the International Court of
Justice is situated in '

(1) New York

(2) London

(3) Hague

(4) Paris

Population control and family planning

is listed in which Schedule in the Indian
Constitution? :

(1) The State List

(2) The Union List

(3) The Concurrent List

(4) The Residual Subjects

Which one of the following Directive
Principles is related to the foreign
policy?

(1) Article 48

(2) Article 49

(3) Article 50

(4) Article 51
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